
Text 11

Blindness

Scientists in Japan hope to restore vision to millions of blind people by the year 2005. Three Japanese universities are collaborating to produce “photodiodes” – semiconductors that convert light into electrical signals, which in turn stimulate the retina. The retina then transmits impulses via the optic nerve to the brain where a visual image is formed. These artificial eyes will enable blind people to distinguish colours, count the fingers on a hand about 45 centimetres away, read big letters and recognise traffic lights. “It will probably not be a fine image in the beginning,” says Professor Tohru Yagi, an artificial eyesight expert at Nagoya University. “Colour vision will be the next step, but completely normal eyesight could take more than thirty years.”

   A high standard of living and good health care means that Japanese society is one of the slowest-ageing populations in the world. Blindness is a big problem for old people, of course, and about 16,000 Japanese people a year lose their eyesight because of old age, disease or accidents. Some, depressed by their handicap, have committed suicide. The social costs of caring for blind people are also very high so it is little wonder that this “state-of-the-art” research is being taken very seriously not only in Japan but is being watched with great interest by other countries, too.

A.- Decide whether the statements below are true or false. Justify your answers with words from the text. (3 marks)

1 Millions of blind people are collaborating to produce “photodiodes”.

2 The visual images are formed in the optic nerve.

3 The artificial eyes will not be perfect at first.

4 Thanks to the artificial eyes, Tohru Yagi can now count the fingers on a hand about 45 centimetres away.

5 16,000 blind people commit suicide every year in Japan.

6 Caring for people who can’t see is often expensive.

B.- Find a word or phrase in the text similar in meaning to the definitions. (1 mark)

1 helping each other

2 by means of

3 following

4 loss of eyesight

D.- Choose one of the following. Write 80-100 words. (4 marks)

1 Do you think life will be better in the year 2025 than it is today?

2 Describe an illness and how it can be treated.
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